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Year 4 Progress Arithmetic teStbase

(+7T+7=

1 mark
5x3=

-
25 x 0=

1 mark




Year 4 Progress Arithmetic tEStbase

495 + 1,000 =

1 mark
64 + 10 =

-
36 +4=

1 mark




Year 4 Progress Arithmetic tEStbase

7 S5, 6_

8 8

1 mark

2,300 + 5,700 =

1 mark

81-9-9=

1 mark




Year 4 Progress Arithmetic teStbase

6x9=

1 mark
540 -7 =

-
16+ 1=

1 mark




Year 4 Progress Arithmetic tEStbase

12 x 11 =
1 mark
7,700 -1,000 =
-
r_3_
9 9

1 mark




Year 4 Progress Arithmetic teStbase

12 x 6 =

1 mark
736 + 8 =

-
2xX6x4=

1 mark




Year 4 Progress Arithmetic tEStbase

/01 -10 =

1 mark
3,159 + 432 =

-
88 -8 =

1 mark




Year 4 Progress Arithmetic teStbase

42 x 4 =

1 mark
5x4x5=

-
60 =+ 5 =

1 mark




Year 4 Progress Arithmetic tEStbase

42 =7 =

1 mark
1 of 48 =
8

1 mark

2o A8 5000-740 =

1 mark




Year 4 Progress Arithmetic tEStbase

58 x 7 =

1 mark

2,963 + 3,456 =

1 mark

202 x 6 =

1 mark

10




Year 4 Progress Arithmetic tEStbase

8,962 — 538 =

1 mark

— of 45

1 mark

8,034 — 1,555 =

1 mark

1




Year 4 Progress Arithmetic teStbase

163 x 8 =

1 mark

— of 28

1 mark

12




